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QUESTION 1

A web application is configured for in-memory replication and is deployed to a cluster. This cluster is distributed across
two buildings on a university campus. For performance reasons, you require that session replication occur within the
building whenever possible.

How do you implement this requirement?

A. Disable the dynamic server list in the proxy plug ?n.

B. Configure the cluster to use multicast communication.

C. Configure the application\\'s cookies parameters.

D.

Configure each server\\'s replication group.

Correct Answer: D

QUESTION 2

You have an existing domain and need to add a new managed server to it.

Which three statements are true concerning the creation of managed servers? (Choose three.)
A. A server must be assigned a machine

B. A server must be assigned a listen port

C. A server\\'s name cannot be changed after it is created

D. A server can be associated with a server template

E. Servers can have duplicate names as long as they have unique ports

F. A server must be assigned a listen address

Correct Answer: ABF

QUESTION 3

You monitor a running JDBC data source with the console and note the following values:
Current Capacity = 10 Current Capacity High Count = 20

Identify two plausible explanations for these metrics. (Choose two.)

A. The workload was lower than it is now

B. The statement cache size is 20
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C. The pool size has increased

D. The statement cache size is 10

E. The pool size has decreased

F. The workload was higher than it is now

Correct Answer: EF

QUESTION 4

Each domain has a directory called servers that contains subdirectories for each server in the domain. Your domain has
a managed server managed managed1.

When will the managedl directory be created?

A. When the managedl server is defined in the Configuration WIZARD
B. When the domain is created

C. When the Administration server comes up for the first time

D. When the managedl server comes up for the first time

Correct Answer: D

QUESTION 5

You are setting up a GridLink Datasource.

What function will help you to seamlessly connect to a dynamic oracle RAC installation
A. Simple Connection Access Node

B. Single Connection Anonymous Network

C. Simple Client Address Name

D. Single Client Access nhame

Correct Answer: D
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